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SOLVE THE FOLLOWING 1 X 10 =10

Find the additive inverse of a. 23 b.-18

Find the reciprocal of a.11 b.-1

Find the value of ()-1

The product of a rational number and its reciprocal

-3 lies to the left of 0 on the number line . (T/F)

Write in standard form : 57.36

Write in usual form : 6.912 x 108

The height of mount Everest is 8848 m .Express it in standard form .
. Write in standard form : 0.00000083

10. Evaluate : 43
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B.SOLVE THE FOLLOWING 2x3 =6

1. Add the following numbers : —_?3 and4i .

2. Substract:%5 from %

3. Mass of earth is ( 5.97 x 10**) kg and mass of moon is (7.35 x10%* ) kg .What is the total mass of
the two ?

C. SOLVE THE FOLLOWING 3 x4 =12
1.The product of two rational number -9 . If one of the numbers is -12. Find the other.

2. Find three rational numbers between% + %

3. From a rope 11m long ,two pieces of length ng and 3 %m are cut off .what is the length of the

remaining rope.
4. Evaluate : {( _?2)2}’2

D. SOLVE THE FOLLOWING 4 x 3 =12

1. Evaluate :{ ( %)'3 - (Zi)'3 } = (%)'3
H . 5\-4 5,5 5 \3x
2. Find the value ofxforwhlch(g) X(E) =(§)

3. Divide the sum of% and —g by the product of_731 and _71 .



